o |

ST.GEORGE’S SCHOOL, ALAKNANDA ( }1_,-*{,;?6’
W Ll 4

MID TERM EXAMINATION (2016-2017 )
SUBJECT: CHEMISTRY
CLASS - XII
DATE: 28 A6 . MAX MARKS:70
TIME: 3 HRS. NO.OF PAGES: 3

— — — - il

GENERAL INSTRUCTIONS

i) Attempt all guestions.

(i) Question No. 1 to § are very short answer guestions and carry I mark each. They are 0 be an-
mwered in ane ward or one senfence each.

(i) Question No. 6 to 10 are short answer guestions and carry 2 marks cach, They are fo be an-
swered in about 30 words each

fiv) Question No, 1 to 22 are long answer guestions and carry 3 marks each. They are fo be an-
swered in abour 58 words each

vl Question No. 23 is a value based questlons and carry 4 mark.

(vi) Question No. 24 to 26 are long answer questions and carry 5 marks each. They are 1o be
answered in abowt 70 words each.

ﬂgﬁal: first law of Faraday..

Q2. Mame the process that is used to enrich sulphide ores.
_’Qﬂf_Wﬁmme TUPAC nomenclature of the compound I'in((".'.h.'jh].
O Why is electron gain enthalpy of Cl; more than F;?
Q< Glass is called a super cooled liquid. Why?
5}{, Silver crystallizes in foc lattice If edge Tength of the unit cell is 4.07 x 10 crm and-the-density ™
is 10.5g/om’, ealculate the atomic mass of silver.(given ; Na =6.023 x 10 2
. Define the following terms:

y‘} Half life _’({J‘Eﬂimlvt collisions 2

g}.’hraw the structures of the following molecules:
PCls (b XeFs 1
How is chemical reduction different from electrolytic reduction? Name a metal each which
is obtained by each of these process.
91'0’:’ Write two points of difference between physical adsorplion and chemisorption,
Q11. Write one point of difference between the following:
renkel and schottky defect.
{b) Schotitky and vacancy defect.
{c) Frenkel and interstitial defect. 3
Q12. State Kohlraush law of independent migration of ions. Calculate 3%, for CaCly and yg{ s
from the following data:
A for Ca™ = 119.0 S cm® mol”

At forClI7' =763 S em” mol’
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a%y for Mg®" =106 S cm” mol”’
Wy for 505 = 1600 Sem” mol 3
Wl do you understand by the term colligative properties.
(bY Why is the freezing point depression of 0.1M sodium chioride solution nearly twice that of
0L.IM glucose solution, 3
Q14. Define activation energy. The rate of peattion of a particular reaction doubies when temperature
changes from 27°C to J?T.Ca!mdd?;m' of activation for the reaction.
(given: R = 8.314 I/K/mole) 3
Q15. Explain what is observed when
(i) An electric current is passed through a sol.
{ii} A beam of light ispassed through a sol.
(lii) an electrolyte is added to ferric hydroxide sal. 3
Q16. Write short notes on:
{a)Magnetic separation
{b)Liguation
(e)Distillation | ?
Q17. Complete the fotlowing: s
(8)XeFx(s) + PFs ——>
) CasPs) + HO o> *
) Cufs e ————— S
{18. How potassium dichromate is prepared from chromite ore? Write all steps with chemical
equations? 3
Q19. Define geometrical isomerism.Draw the geometrical isomers of the compound having
formula [ﬂu(w)m Clg}~. 3
&Iﬁ.ﬂm spin only magnetic moment of [MnBry[** is 5.9 BM. Predict the geometry of the
complex ion. 3
Q!/lgjylllﬂ the following terms:

Dialysis (b) Brownian movement () Peptisation 3

?ﬁﬁv’m is the no. of unpaired electron in [CoFs [* and [Co(NH;)s T
} With the help of a diagram explain the crystal field spliting in octahedral complex. -
23, Shanti , a domestic helper of Mrs. Anuradha, faintedwhile mopping the Noor. Anuradhs immedi-
ately took her to nearby hospital wher she was diagonosed to be severly anaemic, The doctor pre-
scribed an iron rich diet and multivitamins, After a month, shanty was normal A fier reading this
paragraph , answer the following questions.
;dfw[ut values are shown by Anuradha.
(b) Name the vitamin whose deficiency causes pernicious anaemia.
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JG i ve an example of water soluble vitamin. 4
Write two differences between ideal and non ideal solutions

When 30 ml of ethanol and 30 ml of water are mixed , the volume of resulting solution is
more than 60 ml. Why?
¢)Define two typesofl azcotropes. 5

g’i ive reasons for the following:
Nitrogen exists as gas where as phosphorus exists as solid 7

/(—D'f HF is the weakest acid among hydro halic acids inspite of the fact that fluorine is most
electronegative.
Themis a large difference in the boiling poimts of oxygen and sulphur,
Sulphur vapour exhibits some paramagnetic behavieur.
Amd-k: character of hydrides of group 16 increases down the group. 5

What is the main cause of lanthanoid contraction?
[.H{' ‘rite_consequences of lanthanoid contraction

The outer electronic configuration of atoms of two members of lanthanoid scries is given

__e?r!’" sd' 6s° ﬁﬂ’;ﬁ 5"

Find their atom bers. What nﬁgjm state will possibly be exhibited by these

clements? g



